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Instructions for the Candidates
Write your roll number in the space provided on the top of this page.
This paper consists of seventy five multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.
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where (C) is the correct response.

(ii)

Example :

Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.
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PUBLIC ADMINISTRATION
PAPER - Il

Note :

1. Politics Administration dichotonomy was
emphasised by

(A) Frank Good now
(B)
(C) Paul Appleby
(D)

Woodrow Wilson

Charles Merriam

2. Administration consists of manual, clerical
managerial and technical activities
undertaken in persuit of an objective in
view. This is the

1) Wider view of Administration

2) Integral view of Administration

3) Narrower view of Administration
4) Managerial view of Administration
Select the correct code :

(A) 1and 2

(B) 1,2and 3
(C) 2,3and 4
(D) 1,2,3and 4

3. “Every organisation must have its scalar
chain just as every house must have its
drain”. This statement is attributed to

(A) Mooney

(B) L.D. White
(C) J.D. Millet
(D)

D) Urwick

K-2313
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This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

4. Which of the following statements about

administration are correct ?

1) It permeates all planned human
activities

2) Itis a co-operative effort

3) The term ‘administration’ is derived
from the Greek word

4) It is always in pursuit of attaining
desired ends

Select the correct code :

(A) 1and 2

(B) 1,2,3and 4

(C) 2and 3

(D) 1,2and 4

. Which of the following is incorrectly

matched ?

(A) The proverbs of Administration —
1946

(B) Elements of public Administration
— 1946

(C) The Administrative State — 1947

(D) The science of Public Administration :
Three problems — 1947

. “Hierarchy is the means by which

resources are appointed, personnel,
selected and assigned, operations
activated, reviewed and modified”. This
statement is attributed to

(A) Mooney (B) L. D. White
(C) Appleby (D) Urwick
Paper lll
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7. Co-ordination is necessary in an
administrative organisation.

1) To avoid conflicts or overlapping in
the work of the employees

2) To achieve the goals of an
organisation effectively

3) To concentrate on one ascept of work

4) To curb growing tendency towards
empire-building

1,3and 4
1,2and 4

8. Match the List — | with List — Il and select
the correct answer from the codes given

below :
List-1 List -1l
a) System 1 1) Consultative
b) System2 2) Autocratic
c) System 3 3) Participative
d) System 4 4) Benevolent
Autoceactic
Codes :
a b c d
(A) 2 4 3 1
(B) 4 2 1 3
(C) 2 3 4 1
(D) 2 4 1 3
K-2313 (s)

9.

10.

11.

List -1 List—1I
a) Unity of command 1) Gulick
b) Span of control 2) Fayol
c) Hierarchy 3) Urwick
d) Delegation 4) Mooney
Codes :
a b c d
(A) 1 2 4 3
(B) 2 3 4 1
©) 2 4 1 3
(D) 1 3 2 4
List -1 List—1I
a) Devolution 1) Based on
political, legal
and
administrative
action
b) Deconcentration 2) Based on
political and
legal action
c) Delegation 3) Based on
administrative
action
d) Decentralisation 4) Based on
functional
imperative
Codes :
a b c d
(A) 3 2 1 4
(B) 2 3 4 1
©) 4 2 1 3
(D) 3 2 4 1
Systems approach is also known as

(A) Contingency theory
(B) Integrated theory
(C)

(D) Modern theory

Ecological theory
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12. Match List — I, List — Il and select the
correct answer from the codes given

below.
List—1 List—II
(Books) (Authors)
a) General 1) Max. Weber
Principles of

Administration

b) Theory of social 2) C.I. Barnard
and Economic
organisation

c) Organisation 3) R. Likert
and Management
d) The Human 4) H. Fayol

Organisation

5) Elton Mayo
Codes :

Sow=>

Ao D WD
NN =N
w =N KO
oW oa

(
(
(
(

13. The structural characteristics of
bureaucracy includes

1) Hierarchy

2) Rule-orientation
3) Division of labour
4) Role specificity
5) Impersonality
Codes :

(A) 1,2,3

(C) 1,8,5

1,2,5
(D) 1,3,4,5
14. Which of the following pairs of the
administrative thinkers have described
the scientific management as the
“Physiological Organisation Theory”?
(A) Simon and Argyris
(B) Simon and Likert
(C) March and Barnard
D)

(D) March and Simon

K-2313
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15.

16.

Bureaucracy, according to Weber, ca
termed as legal because

1) Itis the most efficient form of
organisation

2) The staff members are selected on the
basis of professional qualifications

3) Authority is exercised by means of a
system of rules and procedures

4) The means are expressly designed
to achieve certain specific ends

Select the correct code :
(A) 1,2and 3 (B) 2and 3
(C) 3and 4 (D) Only 3

Match List—I, List — Il and select the correct
answer from the codes given below :

List-1 List-1I
(Mayo’s Tests)  (Implications)
a) Mass 1) Social
interviewing organisation
Programme

b) Relay Assembly 2) The first enquiry
Test Roam
Experiment

c) Bank writing 3) Human attitudes

experiment and sentiments
d) Textile Mill 4) Great
Experiment illumination
Codes :
a b c d
(A) 1 4 3 2
(B) 3 4 1 2
(C) 2 3 1 4
(D) 3 2 1 4
Paper lll
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17. Arrange the following stages in the
evolution of public administration as a
discipline in the chronological order :

1) Principles approach

2) Public policy approach

3) Administrative behaviour

4) Politics-administration dichotomy

5) Ecological approach
(A) 4,1,5,3,2 (B) 4,1,3,2,5
(C) 4,1,3,5,2 (D) 4,1,2,3,5

18. Answer the following questions by using

the codes given below:

Assertion (A): The behavioural approach
is not an improvement over the Human
Relations Approach.
Reason (R) : Both deal with man in the
organisation.
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
19. Assertion(A): In democracy the ultimate
responsibility of administration is to the
people.

Reasons (R) : The democratic government
is based on the principle of popular
sovereignty.

Answer of the following questions by

using the codes given below.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

K-2313
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21,

22.

it will be mainly because of breakdow
of administration ?”

(A) Charles A. Beard
(B) L.D. White

(C) Donham

(D) Ordway Tead

Answer the following questions by using
the codes given below :

Assertion (A) : Organisational systems
have both positive and negative entropy.

Reason (R) : Positive entropy implies

movement in the direction of order and

differentiation.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Match List — | and List — || and select
the correct answer from the codes
given below :
List -1 List—1I
(Books) (Authors)
a) The practice of 1) Herzberg
management
b) Motivation and 2) McGregor
personality
¢) The human side 3) Drucker
of enterprise
d) Work and the 4) Maslow
nature of man
5) Alderfer
Codes :
a b c d
(A) 3 1 2 5
(B) 5 1 4 2
(C) 5 2 3 4
(D) 3 4 2 1
Paper lll

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

23. &5 FINTRYNYY 0303 2eeR0%1 BN
momséﬁomﬁd ?

A) SF RN — BdReISoDn

Noéwéodo NCTOOS

wjaeésﬁjé‘ m@g POT — TeERCTIFoD
B8,00223 Ncr%os

ébice 2CRTT —TdReTIOD

#o%@’écm %CT%OS

(D) A2 BT — TeEReES0d T 0IRTgs

R)CT%OS

(B)

(C)

24. ST €0 BT, 83 INSNGE,

CIRYT TERETINTEY_ 9
1) umm@@/ TRTHBMOT
2) WOTE/ MR
3) @03055%3 TOWORPNED
4) AC)SO:’DO §®N QR T BINTORYT
5) 0R QsF T FIANW
(A) 1,2 334 ()1253333
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Rewd (A) 1 TFFWITE BFIT, D950 FHOD
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WEERh 0RR)TE TR wﬁ 3R fae)@cb@da
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(A) (A) 332 (R) 28R 30T BOOIRNG
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(C) (A) 030 BOOIRNGS, ST (R) BTNGS
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Which of the following pairs is incorrectly
matched ?

(A) Mc Gregor — Content theory of
motivation

(B) Porter and Lawler — Process
theory of motivation

(C) Victor Vroom — Content theory of
motivation

(D) Stacy Adams — Process theory of
motivation

Which of the following, according to
Herzberg, are not the motivators ?

1) Responsibility
2) Recognition
3) Interpersonal relations
Work itself
Working conditions
1,2and 4
1,2and 3

)
)
)
)

Answer the following questions by using
the codes given below :

Assertion (A) : According to Herzberg,
the opposite of job satisfaction is not
job dissatisfaction, but rather no job
satisfaction.

Reason (R) : He found that the factors

involved in producing job satisfaction are

separate and distinct from the factors that

lead to job dissatisfaction.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

26. Answer the following questions by u

()

the codes given below :

Assertion (A) : The principle of hierarchy
is also called the scalar process or scalar
principle.

Reason (R) : The term “Scalar” is derived
from the “Scale” meaning ladder with
several steps.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

27. Which of the following pairs is not

correctly matched ?

(A) Michigan leadership studies —
Rensis Likert and others

(B) Systems of management — Rensis
Likert

(C) Ohio state leadership studies —
Fleishmen and others

(D) lowa leadership studies —
R. Tannenbaum

28. The hall mark of leadership is

(A) Achievements of goals of an
organisation

(B) Settlement of disputes in an
organisation

(C) Capacity to influence others to follow

(D) Maintaining to core values of
organisation and its distinctive
identity
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29. 3N Ao TF BONYR B TLNIR)nent
EIDOMOEITN, ROTRODO.
1) CIRRTe 2,000 T2 T/ §0300D
PVFED THE Wi} SR
2) 2Z,T ARFONY Wi SPOTRTI
RRBI)T.
3) QNG FABAENIS) BRI
4) @@é@é é’oqmrdﬁ%fs% TOBCDRIT)T.
5) odnmce aoﬁarﬁ%ﬁd& FoR e
TRBIT TRT YTREWTE, STIYT0.
(A) 4,1,3,5,2 (B) 1,3,4,2,5
(C) 3,1,4,2,5 (D) 3,4,1,2,5

30. B3 INTRPNLS) o3ReYcd FOOIRN

BROOBCINNG ?

(A) Q. @ T — FHE TOTL, LY
PONBYT VTS (TR RS Oerdor &
00T WRJRT D0 OB D)

(B) @0. &. & — BURT TOITE,
(e &5 5 OB )

(C) Q0L — ToCIBT Tatede0d 23023
mo%g@ S&éﬁ\%r{eﬁo (o;—éjae‘)wéef 0%
YRR RIS FORERT S
OeBT T )

(D) & &0, 20 T F— IR0 iz FEFOD.
(#ﬁraasr@c@ S &3 @ecéo*éw—@)

31. BRTT RS (F0oeeoRTOTOD) 0BT
1) BEZoDR [P, BORR o= WS
BRI
2) g 0 BURE WRIRRT BRI,
3) BURRRO Ten BRBWWEEOT SVRJT.
4) 3R eI TEE OO [S03RL) FEOIT
AT Q0T TRORBRDTZT.
5) T03ROTD BLRBR, BRT FBODI),
6303% BRRERIIR)T.
ROCINT BOFEBR) 5030, WREO:

(A) 1,2,33324 (B) 2,4 335

(C) 1,23083 (D) 1,2,3,4 85
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32. ST FWTT BRI BPFITIEE,
2g_ TR0l Feotdm)cd 08T
1) @@= WRTABR (BHTTINEE)
DO W[, FRATHA.
2) BOTITLE, (WRTREBR)T e,
2000 BT 5030 IEITROD,
22330 RIRTONTL.
3) N WRTRET (@@@dméo%)d:%
TODRTIZE LHTT F[AOIRIN
YRR

4) TOTERIT SEYBHA =30
LOTITTEE, FIRNTOOIN 80oT e
R0 GAFRETTNG.

ROOIRT RoBeBNTR) 5od), WREO:
(B) 2323
(D) w2 =g

(A) 1,2 333
(C) 2,333 4

33. 35 FINTHTY, wOTTT&LE [, ' CIRR)Te
ROTPLRII BTIOS IRFICD BoRE I
TS BN BOBRIERY GOTWD 7 0Td
8303330 0330 ?
(A) TF TS,

(B) &0, 8 R

(C) 5. . B0

(D) @&, RedPoDT

34. BsFNTINHA 0BT BN BB ?
(A) remnds) 3800 3¢ - 1905

(B) o ex® Sees 50 - 1895

(C) S e dnrmmed BN - 1911

(D) % JRFBH - 1903
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29. Arrange the following stages of decision
making process in order

1) Stating the best course of action
2) Evaluating tentative decisions
3) Acquiring different viewpoints
4) Investigating tentative decisions
5) Instituting follow-up action
4,1,8,5,2

1,8,4,2,5

3,1,4,2,5

3,4,1,2,5

A
B
C

(
(
(
(D

)
)
)
)

30. Which of the following is not correctly
matched ?

(A) L. A. Allen — Personal leadership
and management leadership

(B) M. P. Follett — Leadership of function

(C) Millet — Political and institutional
conditions of leadership

(D) C.I. Barnard — Circular response of
leadership

31. The ingredients of super vision are

1) Measuring and rating performance

2) Rewarding for good work

3) Teaching the person how to do work
)

4) Fitting each person harmoniously
into a working group

5) Selecting the right person for each job
Select the correct code :

(A) 1,2,3and 4

(B) 2,4and 5

(C) 1,2and 3

(D) 1,2,3,4and 5

K-2313

(13)

32. The name of Max Weber is associa

33.

34.

with bureaucracy because :
1) He coined the term bureaucracy

2) He is the first person who made a
systematic study of bureaucracy

3) He included bureaucracy in the legal
rational authority system

4) His bureaucratic model is the most
important paradigm in public
administration

Select the correct code :
(A) 1,2and 3

(B) 2and 3

(C) 2,3and 4

(D) only 2

Who of the following has criticised
bureaucracy as “an organisation that
cannot correct its behaviour by learning
from its error”.

(A) Thomas Carlyle
(B) R. K. Merton
(C) H. A. Simon
(D) M. Gozier

Which of the following is incorrectly
matched ?

(A) Art of Cutting Metals — 1905
(B) A Piece Rate System — 1895

(C) Principles of Scientific Management
- 1911

(D) Shop Management — 1903
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35. 35 FINTRNGS), T TR T H03RENN0T
FOBIERODTIT Te303D 203N O3REEY ?
1) BLRMTD T B8RO HY T [
TPTF ROLOTRYT FIN.
2) FORMTT e BHF T LOSNLOT
B, TERDBTINRDL,
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(B) 1,2 =24
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(D) 2,3 R34
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37. 339N o wﬁ%ﬁ%ﬁ% 20T
@@ro—-i déﬁf&o:b ma’%dfémfo RRZwON
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(A) Togs mw@w@n

(B) =083 emddgsd:jn

(C) INJT-m0ee3 ma’@@:‘é
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39.

40.

ST FeIT OTRTYT0 ?

(A) TOTROD PN/ VTN
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(D) me
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(A) TR 503080
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plevetan Yy

(C) ==& egon, wRE L0308, é?,i%da
SOR0FT 0B %ok 303083
plevetan oty

(D) R PN T T TET
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BT & B0, @EQODNE i
BO0BBRRY, L B FHNS O LoD
FOTEONOTS 2

1) FFF 08 NIFONYT WTRRT

2) BY PN, dg)@pomrbd AN ]
QLPNNG 700,

3) TowoT T dg@féoja It atr®)

4) TFF T MOONED 302 MGINSYS
WHRRRT

5) SRR TR :bdgsd:;oja@q

Slevevipldlevy :gsdféoja SN

1,334

1,235

2,3 3535

1,2,3,433)5

(A)
(B)
(C)
(D)
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35. Which of the following are the findings of
the Hawthorne experiments ?

1) Workers are not isolated and
unrelated individuals

2) Workers are motivated not only by
economic factors

3) Workers productivity is governed by
the physical working conditions

4) The workers tend to form informal
group

Select correct code :

(A) 1,2,3and 4

(B) 1,2and 4

(C) 1,2and 3

(D) 2,3and 4

36. Which of the following pairs is correctly

matched ?

(A) General and Industrial Management
- 1914

(B) Principles of Scientific Management
-1912

(C) Administrative Behaviour — 1957

(D) Functions of Executive — 1938

37. Which of the following sub-systems

integrates the operations of the various
sub-systems of a system and co-ordinates
the system with its supra-system ?

A) Structural sub-system
B) Technical sub-system
C)

)

D) Management sub-system

Psycho-social sub-system

(
(
(
(

K-2313
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38.

39.

40.

Which of the following is the basic
territorial unit of administration in India “

(A) Revenue Division/Sub-division
(B) Tehsil/Mandal

(C) District/Zilla

(D) Village

Who of the following officers of the
Housing Department is/are most
prominently associated with the
formulation of policy at the state level ?

(A) Housing Commissioner

(B) The Secretary of the Housing
Department and Housing
Commissioner

(C) The Secretary of the Housing
Department, Housing Commissioner,
Additional Commissioner and joint
commissioner

(D) The Secretary of the Housing
Department

Which of the following factors are
responsible for the decline of the District
Collector’s prestige and authority in the
post-independence period ?

1) Change in the form of the Government

2) Growth in the number of departments
in Districts

3) The emergence of Panchayati Raj

4) Change in the ends and objectives
of the Government

5) Rise of Commissionerate system of
law and order administration

1,3and 4
1,2and 5
2,3and 5
1,2,3,4and5

A
B
C

(
(
(
(D

S~ = N N
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C
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(B)
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4) TOe3OIT TLE RODNYY. TozBEOD
TENY 20T LRNBERONIN ST
5) 2,000 &¢¢ 28300
LT OITINLICTITIT, 20030
DRETBREON LDIIBNRLD
STERLIEBOTD ST BIHRTIR)TO
(A) 1,334 (B) 1,2,408) 5
(C) 1,2,3x>2 4 (D) 1,3,42)5
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03300 Qed
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Assertion (A) : Deepning of democracy
through effective decentralisation has
facilitated the welfare of the rural people

and improvement in their living standards.

Reasoning (R) : The non effective
implementations of land reforms and other
social welfare/security programmes in
Kerala and West Bengal reflects this trend.

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R)
is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

“At the district level, the collector or the
Deputy Commissioner should be the
captain of the team of officers of all
development departments and should be
made fully responsible for securing the
necessary co-ordination and co-operation
in the preparation and execution of the
district plans for community development”.
The above statement is associated with

(A) Ashok Mehta Committee
(B) G. V. K. Rao Committee
(C) L. M. Singhvi Committee

(D) Balwantray Mehta Committee

(D)

44,

1) Creation of a two-tier system

2) Reservation of seats for SCs and STs

3) Compulsory powers of taxation to
Panchayati Raj institutions

4) Open participation of political parties
in Panchayati Raj affairs

5) If superceded, elections must be held
within one year

1,3and 4

1,2,4and5
1,2,3and 4
1,3,4and 5

A
B
C

(
(
(
(D

)
)
)
)

Match List — | and List — Il and select the
correct answer from the codes given
below :

List—1 List—II
(Terms) (Defined by)
a) Consolidated 1) Article 110
fund of India
b) Money bill 2) Article 267

c) Annual Financial 3) Article 266
Statement

d) Contingency 4) Article 265

fund of India

5) Article 112

Codes :
a b c d
(A) 4 1 5 3
(B) 2 1 5 4
©) 4 1 5 2
(D) 3 1 5 2
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B
C

(
(
(
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)
)
)
)
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0 AR
45. Match List — | and List — Il and select the
answer from the codes given below :
List—1 List Il
a) Token cut 1) “Thatthe
motion amount of the
demand be
reduced by a
specified
amount”.
“That the
amount of the
demand be
reduced by

Re. 1”

“That the
amount of the
demand be
reduced by
Rs. 100”

“That the
amount of the
demand be
reduced to
Re. 1”

“That the
amount of the
demand be
reduced to
Rs. 100”

b) Economy cut
motion

c) Policy cut
motion

Codes :

T >

V\vi

W w o oo
o = w = T
N A = N O

N N~ A~
O

K-2313

46. Which of the following statements
incorrect ?

1) Rajya Sabha can reject a money bill

2) Rajya Sabha can make
recommendations on a money bill

3) Rajya Sabha cannot reject a money
bill

4) Rajya Sabha should return the money
bill to the Lok Sabha within 14 days

5) Rajya Sabha can amend a money bill
Select the correct code :

(A) 2,3and 4
(B)
(C)
(D) Only 1

47. The performance budget was introduced

in India on the recommendations of
(A) Estimates committee
(B) Apple by Report

(C) Comptroller and Auditor — General
of India

(D) Administrative Reforms
Commission

48. The performance budget was introduced
in India in

A) 1958

B) 1968

C) 1978

(
(
(
(D) 1964

)
)
)
)
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Dode3nh
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49. Match List — I and List — Il and select the
answer from the codes given below :

List -1 List—II
a) Steel Authority 1) 1985
of India Limited
b) Department of 2) 1976
public enterprises
c) Audit Board 3) 1973
d) Departmentalisation  4) 1968
of Accounts
Codes :
a b c d
(A) 4 2 3 1
(B) 3 1 4 2
(C) 4 3 1 2
(D) 3 2 1 4

50. Which of the following is not a tool of
executive control over public
administration ?

(A) Power of appointment and removal
(B) Line agencies
(C)

(D)

Appeal to public opinion
Civil services code

51. Assertion(A): Each officer in the secretariat
disposes of work at his level and submits
important cases to higher level.

Reason (R) : All different grades of

officials functions on the principle of

‘Filter’.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

K-2313
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53.

citizens’ control over administration ?
1) Pressure groups

2) Statutory appeals

3
4

5) Advisory committees

A) 2,3and 4

Recall

Election

)
)
)
)

1,3,4and 5

)
)
)
) 1,83and 4

Match the List — | and List — Il and select
the correct answer from the codes given
below :

List—1 List—II
(Writs) (Literal Meanings)
a) Mandamus 1) ‘By what
warrant or
authority’

b) Habeas corpus 2) ‘We command’
3) ‘To be certified’

4) ‘You may have
the body’ or ‘To

c) Quo Warranto

d) Certiorari

have the body
of’
Codes :
a b c d
(A) 2 3 4 1
(B) 2 4 3 1
(C) 1 4 2 3
(D) 2 4 1 3
Paper lll
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BoBeSNLd :
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(D) 2 3 4 5

55. B3 3YNS CIREI BpeRNYRY, ROCIRN
TROORPNG ?
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54. Match List — | and List — Il and select the

correct answer from the codes given
below :

List -1

(Devices for
redressal of
citizen’s

grievances)

List—II
(Presentin)

a) Parliamentary 1) Russia
commissioner
b) Procurator 2) Britain
system
¢) Ombudsman 3) France
d) Administrative  4) USA
courts
5) Sweden
Codes :
a b c d
(A) 3 4 1 5
(B) 2 1 5 3
(C) 4 5 1 2
(D) 2 3 4 5

55. Which of the following pairs is not

correctly matched ?

(A) Deputy Commissioner — 1772

(B) Divisional Commissioner — 1839

(C) Portfolio system — 1859

(D) Chief Secretary — 1799

56. The attached offices are responsible for

1) Providing executive direction required
in the implementation of policies

2) Serving as a repository of technical
information

3) Advising the ministry on technical
aspects of policies

4) Detailed execution of the policies of
the Government

(A) 1and 2 (B) 2,3and 4
(C) 1,2and 3 (D) 1,2,3and 4
K-2313 (23)

58.

59.

60.

whole public personnel structure. Unle
recruitment policy is soundly conceived,
there can be little hope for building a first
rate staff’. This statement is made by

(A) L. D. White

(B) Hoover commission
(C) Fulton committee
(D) Stahl

Whitley councils were established in the
civil service of the U. K. in

(A) 1917 (B) 1918
(C) 1919 (D) 1922

Cabinet secretariat is a

(A) Line agency

(B) Auxiliary and staff agency
(C) Staff agency

(D) Line and staff agency

Match the following List — | with List — Il
correct the answer from the codes given
below:

List-1 List-II
a) Modernisation of 1) Wellesley
civil service
b) Recruitment of 2) Aitchison

civil servants

¢) Training of civil 3) Cornwallis

servants
d) Classifications of 4) Lord Lee
civil service
5) Macauley
Codes :
a b c d
(A) 3 2 1 5
(B) 4 5 2 1
(C) 5 4 3 1
(D) 3 5 1 2
Paper lll
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61. Which of the following is not correctly

62.

matched ?

(A) Caste Bureaucracy — 18" century
British civil service

(B) Guardian Bureaucracy — 16" century
Chinese civil service

(C) Merit Bureaucracy — 19" century
Prussian civil service

(D) Patronage Bureaucracy — 19" century
American civil service

Match List — | with List — Il and select the
correct answer by using the codes given
below :

correct answer by using the codes give
below :

List -1
a) Invalid pension

List—1I
1) Grantedtoa
public servant
who retires after
attaining the
ages of super-
annuation

b) Super annuation 2) Grantedto a
pension public servant
whose
permanent post
is abolished

c) Compensation 3) Grantedtoa

List — | List—II pension public servant

who retires on

a) Rural local 1) Home Ministry account of any
bodies

b) Cantonment 2) Health Ministry

boards

bodily or mental
infirmity

d) Retiring pension 4) Granted to a
public servant

¢) Urban local 3) Rural who is removed
bodies Development from service for
Ministry misconduct
d) Local 4) Defence
Governments in Ministry 5) Grantedtoa
) L public servant
union territorites who retires after
5) Urban completing the
Development fixed period of
o qualifying
Ministry service
Codes : Codes :
a b c d a b c d
(A) 2 4 5 1 (A) 5 5 3 ’
(B) s 1 2 4 (B) 31 > 5
(C) 2 4 1 3 (C) 5 1 2 4
(D) 3 4 5 1 (D) 3 2 1 5
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64. Match List — | with List — || and select the
correct answer by using the codes given
below the lists.

List -1 List—II
a) Weeding 1) Itis a device of
interview group
discussion
invented by the
Americans
b) Selection 2) ltisusedas a
procedure board supplement to
the written
examination
c) Group oral 3) ltisusedto
system eliminate the
unfit candidates
from taking the
written
examination
d) Viva-voce 4) Itis an
independent
method of
selection in
itself
Codes :
a b c d
(A) 4 3 2 1
(B) 3 4 1 2
(C) 4 3 1 2
(D) 3 2 4 1

65. Answer the following questions by using
the codes given below.

Assertion (A) : The principles of neutrality

and anonymity do not go together.

Reason (R) : The principle of anonymity

flows from the doctrine of ministerial

responsibility.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

K-2313

(@)

66. Which of the following elements are
associated with the hypothesis ?
Answer in codes :

[) Tentative statement about the
direction of research problem.

Il) State relationship between variables.

lIll) Consistency with the existing
knowledge.

IV) Findings of the study.

Codes :
(A) v I I
(B) Il I v
(C) I Il I
(D) I \% I
67. ldentify the pathways in sequence for

promoting inclusive growth [Improving
the living standards of disadvantaged
groups] through the Panchayati Raj
Institution. Answer in codes :

[) Mobilisation and reservation of seats
for disadvantaged in PRIs.

Il) Representation of disadvantaged in
PRIs [30 — 50%)].

[Il) Effective voice and articulation in
influencing policies/resources
benefiting them.

IV) Effective monitoring for having better
access to services and wages.

Codes :
(A) I Il [] \Y
(B) 1] Il I \Y
(C) \Y 1] I Il
(D) Il 1] I \Y
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68.

69.

K-2313

Which of the following civil society
organisation is directly associated with
the children welfare [Mid-day meal]
Welfare Programmes ?

(A) MYRADA

(B) ISCON

(C) WIPRO

(D) INFOSYS

Assertion (A) : Globalisation in invitable,
but Indian democracy is strong enough to
minimise the negative implication on
disadvantaged groups. (Loss of livelihood
and jobs, informalisation, casualisation of
labour) backward areas, environment

(Over exploitation of natural resources and
distraction of environment).

Reason (R) : The mobilisation of people
by civil society organisation (Singur,
Narmada) against neo liberal policies and

in protecting the rights of disadvantaged
reflect this trend.

Answer the following questions by using
the codes given below :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R)
is not a correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

71.

along with the reservations of positions
and seats in Panchayati Raj Institutions
(PRIs) has facilitated the empowerment
of disadvantaged groups [SC/ST/
Women].

Reason (R) : The increasing representation
of SC/ST/women members in the PRI’s
reflect this trend.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R)
is not a correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Public-Private
partnership can find solutions to the
problems faced by the society in the
context of globalisation.

Reason (R) : This is evident from the
increasing participation of private
sector in building infrastructural
projects (Airports, Roads and Soon).

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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72. Arrange the activities of the M. G.NAREGA
in the sequential order.

Answer in codes :

[) Improvementin the village infrastructure
(roads, water bodies, canals, tank,
forest) and there by improvement in
ground water levels and productivity.

Il) Identifications of the proposed works
in the village by the Gram Sabha.

lII) Inspection of muster rolls and wage
payment, on monitoring of the assets
created (social auditing).

IV) ldentification and Issue of job cards.

Codes :
(A) Y I 1l} |
(B 1l} I | Y
(C) Y I Il I
(D) [ I 1l} Y

73. Which of the following Research Methods
(Design) for undertaking research ?

Answer in the following codes :

[) Quantitative (survey) method

I) Qualitative (case study) method
[II) Experimental method
IV) Interview method

74. Assertion (A) : Good Governs is cen

75.

for inclusive growth.

Reason (R) : Good Governs is responsive
to the needs interests and preferences of
the people. It delivers goods and services
to the satisfactions of the disadvantaged

groups (SC/ST/Women/minorities/aged).
Codes :

(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R)

is not the correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Which of the following institutional
mechanism does not deal with the

grievances of citizen ?

(A) Lokayukta

(B) Citizen charter

(C) SAKAL (Timely Delivery of Service)

(D) Administrative Tribunal

Codes :
(A) | I Il
(B) I Il v
(C) I v |
(D) | Il v
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